

SOME IDENTITIES AND HYPERGEOMETRIC FUNCTIONAL RELATIONS*

by B. M. SINGHAL,† *Department of Mathematics, Government Science College, Gwalior (M.P.)*

(Communicated by F. C. Auluck, F.N.A.)

(Received 10 February 1975)

In this paper, we have established five identities with the help of the difference operators defined by

$$E_{\alpha} f(\alpha) = f(\alpha + 1),$$

$$\Delta_{\alpha} f(\alpha) = f(\alpha + 1) - f(\alpha),$$

and the known results (Abdul-Halim and Al-Salam 1963). Also we have deduced many transformations of the hypergeometric series from these identities.

1. INTRODUCTION

Recently Agrawal (1973) gave some theorems involving the difference operators Δ and E defined as

$$E_{\alpha} f(\alpha) = f(\alpha + 1)$$

$$\Delta_{\alpha} f(\alpha) = f(\alpha + 1) - f(\alpha)$$

so that

$$\Delta_{\alpha} \equiv E_{\alpha} - 1$$

also

$$\Delta_{\alpha}^n f(\alpha) = \Delta_{\alpha}^{n-1} [\Delta_{\alpha} f(\alpha)]$$

and has obtained some transformations of hypergeometric series. In the present paper, we have established some identities involving these operators and have obtained some relations involving hypergeometric functions by using these identities. These relations are actually the direct consequences of our identities. As our identities are general in character, many other relations may be obtained by specializing the parameters involving in that identities.

* Presented in part, by the author at the 40th Annual Session of Indian Math. Soc., at Bombay, on 28th December 1974.

† *Present address*: Department of Physics, Punjabi University, Patiala (pb.).

2. FIRST IDENTITY

$$\begin{aligned}
 & (-1)^{-\lambda} \sum_{n=0}^{\infty} \frac{(\lambda)_n}{n!} t^n \Delta_{\alpha}^n \Delta_{\beta}^{-n-\lambda} f_1(\alpha) f_2(\beta) \\
 &= (1-t)^{-\lambda} \sum_{n,r=0}^{\infty} \frac{(\lambda)_{n+r}}{n! r!} \frac{(-t)^r}{(1-t)^{n+r}} f_1(\alpha+r) f_2(\beta+n), \quad \dots(2.1)
 \end{aligned}$$

where $\{f(N)\}$ is a sequence of arbitrary complex numbers and it is assumed here that the series involved converge absolutely.

PROOF : Left-hand side

$$\begin{aligned}
 &= (-1)^{-\lambda} \Delta_{\beta}^{-\lambda} \left(1 - \frac{t\Delta_{\alpha}}{\Delta_{\beta}}\right)^{-\lambda} f_1(\alpha) f_2(\beta) \\
 &= (t \Delta_{\alpha} - \Delta_{\beta})^{-\lambda} f_1(\alpha) f_2(\beta) \\
 &= \{t(E_{\alpha} - 1) - (E_{\beta} - 1)\}^{-\lambda} f_1(\alpha) f_2(\beta) \\
 &= (1-t + tE_{\alpha} - E_{\beta})^{-\lambda} f_1(\alpha) f_2(\beta) \\
 &= (1-t)^{-\lambda} \left\{1 - \frac{(E_{\beta} - tE_{\alpha})}{(1-t)}\right\}^{-\lambda} f_1(\alpha) f_2(\beta) \quad \dots(2.2) \\
 &= (1-t)^{-\lambda} \sum_{n=0}^{\infty} \frac{(\lambda)_n}{(1-t)^n n!} \sum_{r=0}^n \binom{n}{r} E_{\beta}^{n-r} (-tE_{\alpha})^r f_1(\alpha) f_2(\beta) \\
 &= (1-t)^{-\lambda} \sum_{n=0}^{\infty} \sum_{r=0}^{\infty} \frac{(\lambda)_{n+r}}{n! r!} (-1)^r \frac{t^r}{(1-t)^{n+r}} f_1(\alpha+r) f_2(\beta+n)
 \end{aligned}$$

This completes the proof of (2.1)

Example 1—Let

$$f_1(\alpha) = \frac{\Gamma[(a + \alpha)]}{\Gamma[(b + \alpha)]} x^{\alpha}$$

and

$$f_2(\beta) = \frac{\Gamma[(c + \beta)]}{\Gamma[(d + \beta)]} y^{\beta}$$

where (a) stands for a sequence a_1, \dots, a_k and similar interpretations for (b) , (c) and (d) .

Then for $\alpha = \beta = 0$, we obtain a bilinear generating function,

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{[\lambda]_n}{n!} {}_{A+1}F_B \left[\begin{matrix} -n, (a); \\ (b); \end{matrix} x \right] {}_{C+1}F_D \left[\begin{matrix} \lambda + n, (c); \\ (d); \end{matrix} y \right] t^n \\ = (1-t)^{-\lambda} F \left[\begin{matrix} \lambda; (a); (c); \\ -; (b); (d); \end{matrix} \frac{xt}{t-1}, \frac{y}{1-t} \right], \end{aligned} \quad \dots(2.3)$$

which is formula (4.6) of Srivastava (1972, p. 82).

In (2.3), when we put $x = 0$ we obtain,

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{[\lambda]_n}{n!} {}_{C-1}F_D \left[\begin{matrix} \lambda + n, (c); \\ (d); \end{matrix} y \right] t^n \\ = (1-t)^{-\lambda} {}_{C-1}F_D \left[\begin{matrix} \lambda, (c); \\ (d); \end{matrix} \frac{y}{1-t} \right] \end{aligned} \quad \dots(2.4)$$

when t is replaced by $-t$ and $C = D = 1$; it reduces to

$$\begin{aligned} (1+t)^{-\lambda} {}_2F_1 \left[\begin{matrix} \lambda, c; \\ d; \end{matrix} \frac{y}{1+t} \right] \\ = \sum_{n=0}^{\infty} (-)^n \frac{[\lambda]_n}{n!} {}_2F_1 [\lambda + n, c; d; y] t^n \end{aligned} \quad \dots(2.5)$$

which is formula (5.4) of Abdul-Halim and Al-salam (1963).

Also when $y = 0$ and t replaced by z , it reduces to Chaundy's (1943) formula

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{(\lambda)_n}{n!} {}_{A+1}F_B \left[\begin{matrix} -n, (a); \\ (b); \end{matrix} x \right] z^n \\ = (1-z)^{-\lambda} {}_{A+1}F_B \left[\begin{matrix} \lambda, (a); \\ (b); \end{matrix} \frac{-xz}{1-z} \right] \end{aligned}$$

this formula has also been discussed directly by Singhal (1975).

By appealing to the familiar result (Abdul-Halim and Al-Salam 1963)

$$(1-x-y)^{-\lambda} = \sum_{r=0}^{\infty} \frac{(b)_r}{r!} (xy)^r \sum_{m,n=0}^{\infty} x^m y^n \frac{(b+r)_m (b+r)_n}{m! n!} \quad \dots(2.6)$$

it is easily seen that the identity (2.1) with (2.2) comes in the form :

$$\begin{aligned}
 & (-1)^{-\lambda} \sum_{n=0}^{\infty} \frac{[\lambda]_n}{n!} t^n \Delta_{\alpha}^n \Delta_{\beta}^{-n-\lambda} f_1(\alpha) f_2(\beta) \\
 &= (1-t)^{-\lambda} \sum_{r=0}^{\infty} \frac{[\lambda]_r}{r!} \frac{(-t)^r}{(1-t)^{2r}} \sum_{m, n=0}^{\infty} \frac{(\lambda+r)_m (\lambda+r)_n}{m! n!} \\
 &\quad \times \left(\frac{1}{1-t}\right)^n \left(\frac{-t}{1-t}\right)^m f_1(\alpha+m+r) f_2(\beta+n+r) \quad \dots(2.7)
 \end{aligned}$$

Taking $f_1(\alpha)$ and $f_2(\beta)$ as in Example 1, we get the following transformation

$$\begin{aligned}
 & \sum_{n=0}^{\infty} \frac{[\lambda]_n}{n!} {}_{A+1}F_B \left[\begin{matrix} -n, (a); \\ (b); \end{matrix} x \right] {}_{C+1}F_D \left[\begin{matrix} \lambda+n, (c); \\ (d); \end{matrix} y \right] t^n \\
 &= (1-t)^{-\lambda} \sum_{r=0}^{\infty} \frac{[\lambda]_r [(a)]_r [(c)]_r}{r! [(b)]_r [(d)]_r} {}_{A+1}F_B \left[\begin{matrix} \lambda+r, (a+r); \\ (b+r) \end{matrix} \frac{-xt}{1-t} \right] \\
 &\quad \times {}_{C+1}F_D \left[\begin{matrix} \lambda+r, (c+r); \\ (d+r) \end{matrix} \frac{yt}{1-t} \right] \left\{ \frac{-txy}{(1-t)^2} \right\}^r \quad \dots(2.8)
 \end{aligned}$$

3. SECOND IDENTITY

$$\begin{aligned}
 & \sum_{m, n=0}^{\infty} \frac{(\lambda)_m (\lambda)_n}{m! n!} f_1(\alpha+m) f_2(\beta+n) \\
 &= \sum_{r=0}^{\infty} \frac{(-1)^r [\lambda]_r}{r!} \sum_{m, n=0}^{\infty} \frac{(\lambda+r)_{m+n}}{m! n!} f_1(\alpha+m+r) f_2(\beta+n+r), \quad \dots(3.1)
 \end{aligned}$$

provided the series involved converge absolutely.

PROOF : Left-hand side

$$\begin{aligned}
 &= \sum_{m, n=0}^{\infty} (\lambda)_m (\lambda)_n \frac{E_{\alpha}^m}{m!} \frac{E_{\beta}^n}{n!} f_1(\alpha) f_2(\beta) \\
 &= (1-E_{\alpha})^{-\lambda} (1-E_{\beta})^{-\lambda} \cdot f_1(\alpha) f_2(\beta).
 \end{aligned}$$

Now using the result Abdul-Halim and Al-Salam (1963, p. 61).

$$(1-x)^{-a} (1-y)^{-a} = \sum_{r=0}^{\infty} (-1)^r \frac{(a)_r}{r!} (xy)^r \sum_{m,n=0}^{\infty} \frac{(a+r)_{m+n}}{m! n!} x^m y^n$$

we get the right-hand side of (3.1).

Example 2--Choosing $f_1(\alpha)$ and $f_2(\beta)$ similar to Example 1, we get (for $\alpha = \beta = 0$)

$$\begin{aligned} & {}_{A+1}F_B \left[\begin{matrix} \lambda, (a); \\ (b); \end{matrix} x \right] {}_{C+1}F_D \left[\begin{matrix} \lambda, (c); \\ (d); \end{matrix} y \right] \\ &= \sum_{r=0}^{\infty} (-1)^r \frac{[\lambda]_r [(a)]_r [(c)]_r}{r! [(b)]_r [(d)]_r} x^r y^r F \left[\begin{matrix} \lambda + r; (a+r); (c+r); \\ -; (b+r); (d+r); \end{matrix} x, y \right] \end{aligned} \tag{3.2}$$

which evidently provides a generalization to the result (Jain 1972, p. 5)

$${}_4F_3 [a, \alpha, \beta, \gamma; \Delta(3, \delta); x] {}_4F_3 [a, \alpha', \beta', \gamma'; \Delta(3, \delta'); y]$$

$$\begin{aligned} &= \sum_{r=0}^{\infty} \frac{(-1)^r (a)_r (\alpha)_r (\beta)_r (\gamma)_r (\alpha')_r (\beta')_r (\gamma')_r}{r! \left(\frac{\delta}{3}\right)_r \left(\frac{\delta+1}{3}\right)_r \left(\frac{\delta+2}{3}\right)_r \left(\frac{\delta'}{3}\right)_r \left(\frac{\delta'+1}{3}\right)_r \left(\frac{\delta'+2}{3}\right)_r} (xy)^r \\ &\quad \times F \left[\begin{matrix} a+r; \alpha+r, \alpha'+r; \beta+r, \beta'+r; \\ \gamma+r, \gamma'+r; \\ -; \frac{\delta}{3}+r, \frac{\delta'}{3}+r; \frac{\delta+1}{3}+r, \frac{\delta'+1}{3}+r; \\ \frac{\delta+2}{3}+r, \frac{\delta'+2}{3}+r; \end{matrix} x, y \right] \end{aligned}$$

where $\Delta(s, \alpha)$ stands for a set of 's' parameters;

$$\frac{\alpha}{s}, \frac{\alpha+1}{s}, \dots, \frac{\alpha+s-1}{s}$$

On specializing the parameters, (3.2) also reduces to;

$$\begin{aligned} & {}_2F_1 [a, b; c; x] {}_2F_1 [a, b'; c'; y] \\ &= \sum_{r=0}^{\infty} \frac{(-1)^r (a)_r (b)_r (b')_r}{r! (c)_r (c')_r} (xy)^r F_2 (a+r, b+r, b'+r; c+r, c'+r; x, y) \end{aligned}$$

which is formula (27) of Burchnall and Chaundy (1940) and where F_2 is Appell's double hypergeometric function defined as (Appell and Kampe de Fériet 1926)

$$F_2 [a, b, b'; c, c'; x, y] = \sum_{m, n=0}^{\infty} \frac{(a)_{m+n} (b)_m (b')_n}{m! n! (c)_m (c')_n} x^m y^n.$$

It can easily be seen that the identity (3.1) reduces in particular to a known result [Burchnall and Chaundy 1940, p. 121 (51)]

$$\begin{aligned} & {}_1F_1(a; c; x) {}_1F_1(a; c'; y) \\ &= \sum_{r=0}^{\infty} (-)^r \frac{(a)_r}{r! (c)_r (c')_r} x^r y^r \psi_2(a+r; c+r; c'+r; x, y) \end{aligned}$$

where ψ_2 is Humbert's confluent double hypergeometric function defined as (Erdelyi *et al.* 1953)

$$\psi_2(a; c, c'; x, y) = \sum_{m, n=0}^{\infty} \frac{(a)_{m+n}}{m! n! (c)_m (c')_n} x^m y^n$$

4. THIRD IDENTITY

$$\begin{aligned} & \sum_{m, n=0}^{\infty} \frac{(\lambda)_{m+n}}{m! n!} f_1(\alpha + m + n) f_2(\beta + m) f_3(\gamma + n) \\ &= \sum_{r=0}^{\infty} \frac{(\lambda)_r}{r!} \sum_{m, n=0}^{\infty} \frac{(\lambda+r)_m (\lambda+r)_n}{m! n!} f_1(\alpha + m + n + 2r) \\ & \quad \times f_2(\beta + m + r) f_3(\gamma + n + r) \end{aligned} \tag{4.1}$$

provided that the series involved converge absolutely.

PROOF : Left-hand side

$$\begin{aligned} & \sum_{m, n=0}^{\infty} \frac{(\lambda)_{m+n}}{m! n!} E_{\alpha}^{m+n} E_{\beta}^m E_{\gamma}^n \cdot f_1(\alpha) f_2(\beta) f_3(\gamma) \\ &= (1 - E_{\alpha} E_{\beta} - E_{\alpha} E_{\gamma})^{-\lambda} \cdot f_1(\alpha) f_2(\beta) f_3(\gamma) \end{aligned}$$

using the relation (2.6) we get right-hand side.

Example 3—Let

$$f_1(\alpha) = 1^{\alpha}, f_2(\beta) = \frac{\Gamma[(a + \beta)]}{\Gamma[(b + \beta)]} x^{\beta}$$

and

$$f_3(\gamma) = \frac{\Gamma[(c + \gamma)]}{\Gamma[(d + \gamma)]} y^\gamma$$

we get (for $\alpha = \beta = \gamma = 0$)

$$F \left[\begin{matrix} \lambda: (a); (c); \\ -: (b); (d); \end{matrix} x, y \right] = \sum_{r=0}^{\infty} \frac{[\lambda]_r [(a)]_r [(c)]_r}{r! [(b)]_r [(d)]_r} x^r y^r \\ \times {}_{A+1}F_B \left[\begin{matrix} \lambda + r, (a + r); \\ (b + r); \end{matrix} x \right] {}_{C+1}F_D \left[\begin{matrix} \lambda + r, (c + r); \\ (d + r); \end{matrix} y \right].$$

which is formula (92) of Burchnall and Chaundy (1940).

Also in particular, for the Humbert's confluent double hypergeometric function ϕ_1, ψ_1, ψ_2 and E_1 (cf., e.g., Erdelyi *et al.*, 1953, p. 225); we are led to the following known special cases [Burchnall and Chaundy 1941, pp. 119 (28), 120 (34), 121 (50)], of (2.1);

$$\psi_1(\alpha; \beta; \gamma, \gamma'; x, y) \\ = \sum_{r=0}^{\infty} \frac{(\alpha)_r (\beta)_r}{r! (\gamma)_r (\gamma')_r} x^r y^r {}_2F_1 \left[\begin{matrix} \alpha + r, \beta + r; \\ \gamma + r \end{matrix} x \right] {}_1F_1 \left[\begin{matrix} \alpha + r; \\ \gamma' + r \end{matrix} y \right] \dots (4.2)$$

$$\phi_1(\alpha; \beta; \gamma; x, y) \\ = \sum_{r=0}^{\infty} \frac{(\alpha)_r (\beta)_r}{(\gamma)_{2r} r!} x^r y^r E_1(\alpha + r, \alpha + r, \beta + r, \gamma + 2r; x, y) \dots (4.3)$$

and

$$\psi_2(\alpha; \gamma, \gamma'; x, y) \\ = \sum_{r=0}^{\infty} \frac{(\alpha)_r}{r! (\gamma)_r (\gamma')_r} {}_1F_1 \left[\begin{matrix} \alpha + r; \\ \gamma + r \end{matrix} x \right] {}_1F_1 \left[\begin{matrix} \alpha + r; \\ \gamma' + r \end{matrix} y \right] \dots (4.4)$$

5. FOURTH IDENTITY

$$\sum_{r=0}^{\infty} \frac{(\lambda)_r}{n!} f(\alpha + n) (x + y)^n \\ = \sum_{r=0}^{\infty} \frac{(\lambda)_r}{r!} x^r y^r \sum_{m,n=0}^{\infty} \frac{(\lambda + r)_m (\lambda + r)_n}{m! n!} f(\alpha + m + n + 2r) x^m y^n \dots (5.1)$$

provided that the series involved converge absolutely.

PROOF : Using the identity (Singhal 1974)

$$\sum_{N=0}^{\infty} f(N) \frac{(x_1 + \dots + x_n)^N}{N!}$$

$$= \sum_{m_1, \dots, m_n=0}^{\infty} f(m_1 + \dots + m_n) \frac{x_1^{m_1}}{m_1!} \dots \frac{x_n^{m_n}}{m_n!} \dots(5.2)$$

where $\{f(N)\}$ is a sequence of arbitrary complex numbers and it is assumed that the series involved converge absolutely, we get

Left-hand side of (5.1)

$$= \sum_{m, n=0}^{\infty} \frac{(\lambda)_{m+n}}{m! n!} f(\alpha + m + n) x^m y^n$$

$$= \sum_{m, n=0}^{\infty} (\lambda)_{m+n} \frac{(E_\alpha x)^m}{m!} \frac{(E_\alpha y)^n}{n!} \cdot f(\alpha)$$

$$= (1 - E_\alpha x - E_\alpha y)^{-\lambda}, f(\alpha)$$

using (2.6), we get the right-hand side.

This completes the proof of (5.1).

Example 4—Let

$$f(\alpha) = \frac{\Gamma[(a + \alpha)]}{\Gamma[(b + \alpha)]},$$

we get (for $\alpha = 0$)

$${}_{A+1}F_B \left[\lambda, \begin{matrix} (a); \\ (b) \end{matrix} ; x + y \right]$$

$$= \sum_{r=0}^{\infty} \frac{[\lambda]_r [(a)]_{2r}}{r! [(b)]_{2r}} x^r y^r F \left[\begin{matrix} (a + 2r): \lambda + r; \lambda + r; \\ (b + 2r): -; -; \end{matrix} ; x, y \right] \dots(5.3)$$

or particularly we obtain

$${}_2F_1 [a, b; c; x + y]$$

$$= \sum_{r=0}^{\infty} \frac{(a)_{2r} (b)_r}{r! (c)_{2r}} x^r y^r F_1 [a + 2r, b + r, b + r; c + 2r; x, y] \dots(5.4)$$

which is formula (38) of Burchmall and Chaundy (1940).

The function F_1 is Appell's double hypergeometric function defined as (Appell and Kampé de Fériet 1926):

$$F_1 [a, b, b'; c; x, y] = \sum_{m, n=0}^{\infty} \frac{(a)_{m+n} (b)_m (b')_n}{(c)_{m+n} m! n!} x^m y^n$$

Also in particular (5.1) reduces to a known result [Burchnall and Chaundy 1941, p. 121 (44)]

$$\begin{aligned}
 & {}_1F_1 [a; c; x + y] \\
 &= \sum_{r=0}^{\infty} \frac{(a)_r}{r! (c)_{2r}} x^r y^r \phi_2 (a + r, a + r; c + 2r; x, y), \quad \dots(5.5)
 \end{aligned}$$

It may be noted here that the formulas (44) and (45) of Burchnall and Chaundy (1940), i.e.,

$$\begin{aligned}
 & {}_2F_1 (a, b; c; x + y - xy) \\
 &= \sum_{r=0}^{\infty} \frac{(-1)^r (a)_r (b)_r}{r! (c)_r} x^r y^r {}_2F_1 (a + r, b + r; c + r; x + y) \dots(5.6)
 \end{aligned}$$

and

$$\begin{aligned}
 & {}_2F_1 (a, b; c; x + y) \\
 &= \sum_{r=0}^{\infty} \frac{(a)_r (b)_r}{r! (c)_r} x^r y^r {}_2F_1 (a + r, b + r; c + r; x + y - xy) \dots(5.7)
 \end{aligned}$$

are direct consequences of the identity (5.2).

6. FIFTH IDENTITY

$$\begin{aligned}
 & \sum_{n=0}^{\infty} \frac{t^n}{n!} \Delta_{\alpha}^n \Delta_{\beta}^n f_1(\alpha) f_2(\beta) \\
 &= e^t \sum_{m, n, p=0}^{\infty} f_1(\alpha + m + p) f_2(\beta + m + n) \frac{(-1)^{m+p}}{m! n! p!} t^{m+n+p} \dots(6.1)
 \end{aligned}$$

provided that the series involved converge absolutely. As the proof of this identity is very easy, we are not giving here.

Example 5—Taking $f_1(\alpha)$ and $f_2(\beta)$ as in *Example 1*, we get the following result

$$\begin{aligned}
 e^t & \sum_{n=0}^{\infty} \frac{[(a)]_n [(c)]_n (xyt)^n}{[(b)]_n [(d)]_n n!} {}_A F_B \left[\begin{matrix} (a+n); \\ (b+n); \end{matrix} -xt \right] {}_C F_D \left[\begin{matrix} (c+n); \\ (d+n); \end{matrix} -yt \right] \\
 & = \sum_{n=0}^{\infty} {}_{A+1} F_B \left[\begin{matrix} (a), -n; \\ (b); \end{matrix} x \right] {}_{C+1} F_D \left[\begin{matrix} (c); -n; \\ (d); \end{matrix} y \right] \frac{t^n}{n!} \quad \dots(6.2)
 \end{aligned}$$

In a forthcoming communication, we shall discuss some other identities.

ACKNOWLEDGEMENT

Thanks are due to Dr. B. M. Agrawal for his kind supervision.

REFERENCES

- Abdul-Halim, N., and Al-Salam, W. A. (1963). Double Euler transformations of certain hypergeometric functions. *Duke Math. J.*, **30**, 51-62.
- Agrawal, B. M. (1973). Transformations of hypergeometric series, *Vijnana Parishad Anu. Patrika*, **10** (3), 169-176.
- Appell, P., and Kampé de Fériet, J. (1926). *Fonctions hypergeometriques et hyperspheriques*. Gauthier-Villars.
- Burchinal, J. L., and Chaundy, T. W. (1940). Expansions of Appell's double hypergeometric functions I. *Q. Jl Math.*, **11**, 249-70.
- (1941). Expansions of Appell's double hypergeometric functions (II). *Q. Jl Math.*, **12**, 112-28.
- Chaundy, T. W. (1943). An extension of hypergeometric functions I. *Q. Jl Math. (Oxford Ser.)*, **14**, 55-78.
- Erdelyi, A., et al. (1953). *Higher Transcendental Functions*, Vol. I. McGraw-Hill Book Co., Inc., New York.
- Jain, R. N. (1972). Triple Euler transformation of certain hypergeometric functions. *Univ. Indore Res. J.*, 1-12.
- Singhal, B. M. (*in press*). Operational techniques with certain double generalized transform. *Indian J. pure appl. math.*
- (1974). On the reducibility of Lauricella's function F_D , *Jñanābha*, Sec. A, Vol. 4, 163-4.
- Singhal, B. M., and Agrawal, B. M. (1974). On multiple integrals involving hypergeometric functions of two variables. *Jñanābha*, **4**, 27-32.
- Srivastava, H. M. (1972). Certain formulas associated with generalized Rice polynomials II. *Annals, Polinici Math.*, **28**, 73-83.